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SECONDARY SCHOOL EXAMINATION – 2022 (ANNUAL) 

SCIENCE (Compulsory)

Total No. of Questions  -  

Time : 2 Hrs. 45 Minutes         Full Marks : 80 

General Instructions :-

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz”u iqfLrdk Øekad ¼10 vadksa dk½ vo”; 

fy[ksaA 

Candidates must enter his/her Question Booklet Serial No. (10 

digits) in the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give their answer in their own words as 

far as practicable. 

3- nkfguh vksj gkf”k;sa ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- bl iz”u i= dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr 

le; fn;k x;k gSA 

15 minutes of extra time have been allotted to the candidates for 

reading the questions carefully. 

5- ;g iz”u&i= nks [k.Mksa esa gS]  ,oa  

This question paper is divided into two sections - Section-A and 

Section-B. 

Sub. Code – 112 
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6- [k.M&v esa 80 oLrqfu"B iz”u gSaA buesa ls fdUgha 40 iz”uksa dk mÙkj nsuk gSA 

izR;sd iz”u ds fy, 1 vad fu/kkZfjr gSA ;fn dksbZ ijh{kkFkhZ 40 ls vf/kd iz”uksa 

dk mÙkj nsrk gS rks izFke 40 iz”uksa ds mÙkj dk gh ewY;kadu gksxkA budk mÙkj 

miyC/k djk;s x, OMR mÙkj&i=d esa fn, x;s lgh o`Ùk dks uhys@dkys ckWy 

isu ls HkjsaA fdlh Hkh izdkj dk âkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk 

OMR mÙkj&i=d esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 80 objective type questions; out of which 

any 40 questions are to be answered. If a candidate answers more 

than 40 questions, then answers of first 40 questions will be 

evaluated only. Each question carries 1 mark. Darken the circle 

with blue/black ball pen against the correct option on OMR Answer 

Sheet provided to you. Do not use Whitener/liquid/blade/nail etc. 

on OMR Answer Sheet; otherwise the result will be invalid. 

7-  esa 24 y?kq mŸkjh; iz”u gSaA ftlesa izR;sd fo"k; HkkSfrd “kkL=] jlk;u 

'kkL= ,oa tho foKku ds vkB&vkB iz”u gSaA izR;sd fo"k; HkkSfrd 'kkL=] 

jlk;u 'kkL= ,oa tho foKku ls pkj&pkj iz”uksa dk mÙkj nsuk gSA izR;sd ds 

fy, 2 vad fu/kkZfjr gSA buds vfrfjDr bl [k.M esa 6 nh?kZ mÙkjh; iz”u fn;s 

x, gSa( ftuesa ls 2 iz”u HkkSfrd 'kkL= ds] 2 iz”u jlk;u 'kkL= ds ,oa 2 iz”u 

tho foKku ds gSaA HkkSfrd 'kkL= ds nh?kZ mÙkjh; iz”u ds fy, 6 vad] jlk;u 

'kkL= ,oa tho foKku ds fy, 5&5 vad fu/kkZfjr gSaA izR;sd fo"k; HkkSfrd eV
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'kkL=] jlk;u 'kkL= ,oa tho foKku ls ,d&,d iz”u dk mÙkj nsuk vfuok;Z 

gSA 

In Section-B, there are 24 short answer type questions. Out of 

which each subject (Physics, Chemistry and Biology) consists of 

eight questions. Four questions are to be answered from each 

subject Physics, Chemistry and Biology. Each question carries 2 

marks. Apart from these, there are 6 Long Answer type questions 

two each from Physics, Chemistry and Biology. Long Answer Type 

questions from Physics carries 6 marks each, and from Chemistry 

and Biology carries 5 marks each. Answer of one question each 

from Physics, Chemistry and Biology is compulsory. 

8- fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic device is strictly prohibited. 

Section A  

Objective Type Question

iz”u la[;k 1 ls 80 rd oLrqfu"B iz”u gSaA buesa ls fdUgha 40 iz”uksa dk mÙkj nsuk gSA 

izR;sd iz”u ds lkFk pkj fodYi fn, x, gSa ftuesa ls ,d lgh gSA vius }kjk pqus x, lgh 

fodYi dks OMR 'khV ij fpfàr djsaA      40 X 1 ¾ 40 

Questions Nos. 1 to 80 are of objective type. Answer any 40 questions. Each 

question has four options out of which only one is correct. You have to mark 

your selected option on the OMR sheet.     40 x 1 =40 

1- ikS/ks esa tuu vax dgk¡ ik;s tkrs gSa \ 
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A- tM+ esa    B- iq"Ik esa 

C- ruk esas    D- Qy esa 

Where are the reproductive organs found in plants? 

A. in root    B. in flower 

C. in stem    D. in fruit 

2- izdk”k la”ys"k.k dh fØ;k gksrh gS & 

A. tarqvksa esa    B. dodks esa 

C. ijthfo;ksa esa    D. gjs ikS/kksa esa 

The process of photosynthesis takes place in - 

A. animal    B. fungus 

C. parasite    D. green plants 

3- izdk”k la”ys"k.k fØ;k esa vkWDlhtu fdl ls ckgj fudyrk gS \ 

A- ty ls    B- Xywdkst ls 

C- CO2     D- fMfDV;klkse ls 

From which oxygen comes out during the process of 

photosynthesis?  

A. Water    B. glucose 

C. CO2     D. dictyosomes eV
idy
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4- tBj xzafFk;k¡ dgk¡ ikbZ tkrh gS \ 

A- ;d`r esa    B- vkek”k; esa 

C- vXuk”k; esa    D- eq¡g esa 

Where are the gastric glands found in? 

A. Liver    B. Stomach 

C. Pancreas    D. Mouth 

5- Xykbdksfyfll dh izfØ;k laiUu gksrh gS & 

A- LVksekVk esa    B- dsUnzd esa 

C- ekbVksdkWf.Mª;k esa   D- dksf”kdk nzO; esa 

The process of glycolysis takes place in - 

A. Stomata    B. Nucleus 

C. Mitochondria   D. Cytoplasm 

6- bFkkby ,Ydksgy fdl izdkj ds 'olu ls curk gS \ 

A- ok;oh;    B- vok;oh; 

C- A ,oa B nksuksa   D- buesa ls dksbZ ugha 

Ethyl alcohol is made from which type of respiration? 

A. Aerobic    B. Anaerobic 

C. Both A and B   D. None of these 

7- lcls NksVh var%L=koh xzafFk dkSu gS \ 

A- ,fMªuy    B- fiV~;wVjh 

C- esMqyk    D- FkkW;jkbM 
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Which is the smallest endocrine gland? 

A. Adrenal    B. Pituitary 

C. Medulla    D. Thyroid 

8- ikS/kksa ds ok;oh; Hkkxksa ls ty ds gzkl dh fØ;k dgykrh gS & 

A-  folj.k    B- ok"iksRltZu 

C- ijkx.k    D- fu"kspu 

The process of loss of water from the aerial parts of the plant is 

called - 

A. Diffusion    B. Transpiration 

C. Pollination   D. Fertilization  

9- ?ksa?kk jksx iuirk gS & 

A- jDr dh deh ls   B- phuh dh deh ls 

C- vk;ksMhu dh deh ls  D- eksVkik ls 

Goiter disease develops from  

A. Blood loss   B. Due to lack of sugar 

C. Iodine deficiency  D. Obesity 

10- jDr esa gYds ihys jax ds fpifpis nzo dks dgrs gSa & 

A- IykTek    B- fyEQ 

C- lhje    D- lQsn jDr df.kdk,¡ 
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Light yellow colored sticky substance in the blood is called - 

A. Plasma    B. Lymph 

C. Serum    D. WBC 

11- jDrpki ekius ds midj.k dks dgrs gSa & 

A. LVsFkksLdksi    B- ,ehVj 

C. ySDVksehVj    D- fLQXekseSuksehVj 

The device for measuring blood pressure is called -  

A. Stethoscope   B. Ammeter 

C. Lactometer   D. Sphygmomanometer 

12- ok"iksRltZu fØ;k ik;h tkrh gS & 

A- tarqvksa esa    B- ikS/kksa esa 

C- ikS/kksa vkSj tarqvksa nksuksa es  D- buesa ls dksbZ ugha 

Transpiration is found in  

A. Animals    B. Plants 

C. Both plants and animals D. None of these 

13- fuEufyf[kr esa fdlesa [kqyk ifjlapj.k ra= ik;k tkrk gS \ 

A- Å¡V esa    B- ?kksM+k esa 

C- frypV~Vk    D- ekuo esa 

Open circulatory system is found in which of the following?  
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A. Camel     B. Horse 

C. Cockroach   D. Human 

14- jDr D;k gS \ 

v- inkFkZ    c- mÙkd 

l- dksf”kdk    n- buesa ls dksbZ ugha 

What is blood? 

A. Matter    B. Tissue 

C. Cell     D. None of these 

15- ew= dk ihyk jax fdl o.kZd ds dkj.k gksrk gS\ 

v- Y;wdksIykLV    c- DyksjksIykLV 

l- ;wjksØkse    n- ØkseksIykLV 

Which pigment causes the yellow colour of urine? 

A. Leucoplast   B. Chloroplasts 

C. Urochrome   D. Chromoplasts 

16- fuEufyf[kr esa dkSu ,d mHk;fyaxh tUrq gS \ 

v- gkFkh     c- xk; 

l- dqÙkk     n- dsapqvk 

Which of the following is a hermaphrodite animal? 
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A. Elephant    B. Cow 

C. Dog     D. Earthworm 

17- ;wfj;k jDr esa dgk¡ ls izos”k djrh gS\ 

v- oD̀d ls    c- QsQM+k ls 

l- ;d`r ls    n- buesa ls dksbZ ugha 

Where does urea enter the blood from? 

A. Kidney    B. Lungs 

C. Liver    D. None of these 

18- tSo vko/kZu iznf”kZr djus okyk jlk;u gS & 

A. CFC    B. DDT 

C. ATP     n- buesa ls dksbZ ugha 

It is a chemical showing biomagnifications – 

A. CFC    B. DDT 

C. ATP    D. None of these 

19-  fuEufyf[kr esa ls dkSu ,d izkFkfed miHkksDrk gS\ 

v- vi?kVd    c- 'kkdkgkjh 

l- ekalkgkjh    n- lokZgkjh 

Which one of the followings is a Primary consumer? 

A. Decomposer   B. Herbivores eV
idy
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C. Carnivores   D. Omnivores  

20- fuEufyf[kr esa dkSu ,d ^Hkwfexr ty* dk mnkgj.k gS\ 

v- dqvk¡     c- unh 

l- leqnz     n- rkykc 

Which of the following is an example of ‘underground water’? 

A. Well     B. River 

C. Sea     D. Pond  

21- ^izkd`frd pquko* }kjk thoksa dk fodkl dgykrk gS\ 

v- esaMyokn    c- ykekdZokn 

l- MkfoZuokn    n- lw{e&fodkl 

The development of organism by natural selection is called – 

A. Mendelism   B. Lamarkism 

C. Darwinism   D. Micro-evolution 

22- gjs ikS/ks dgykrs gSa & 

v- miHkksDrk    c- vi?kVd 

l- mRiknd    n- buesa ls dksbZ ugha 

Green plants are called – 

A. Consumer   B. Decomposer 

C. Producer    D. None of these 

23-  vaMksRlxZ dk dkj.k gS & 

v- LH     c- ,LVªkstsu 
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l- FSH    n- buesas ls dksbZ ugha 

Cause of ovulation is – 

A. LH     B. Estrogen 

C. FSH    D. None of these  

24- ySaxjgSal dh }hfidk,¡ dgk¡ ikbZ tkrh gS \ 

v- vaMk”k; esa    c- vkek”k; esa 

l- vXuk”k; esa    n- oD̀d esa 

Where are the islets of langerhans found in ? 

A. Ovary    B. Stomach 

C. Pancreas    D. Kidney 

25- Fkk;jkWfDlu gkeksZu ds la”ys"k.k esa fuEufyf[kr esa fdldk gksuk vko”;d gS \ 

v- vk;ju    c- eSaxuht 

l- Dyksjhu    n- vk;ksMhu 

Which of the following is necessary in the synthesis of thyroxine 

hormone? 

A. Iron     B. Manganese 

C. Chlorine    D. Iodine 

26- fuLly df.kdk,¡ ikbZ tkrh gS & 

v- usÝkWu esa    c- U;wfDy;l esa 

l- U;wjkWu esa    n- buesa ls dksbZ ugha 

Nissl’s granules are found in  
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A. Nephron    B. Nucleus 

C. Neuron    D. None of these  

27- ekuo efLr"d dk otu gksrk gS & 

A. 1.5 – 2.0 Kg   B. 0.5-1.5 Kg 

C. 1.2-1.4 Kg    D. buesa ls dksbZ ugha 

The weight of human brain is – 

A. 1.5 – 2.0 Kg   B. 0.5-1.5 Kg 

C. 1.2-1.4 Kg   D. None of these  

28- fudV&n`f"V nks"k vFkok nwj&nf̀"V nks"k ds fuokj.k gsrq iz;qDr ysal }kjk cuk 

izfrfcac gksrk gS & 

v- okLrfod] lh/kk   c- dkYifud] lh/kk 

l- dkYifud] mYVk   n- okLrofd] mYVk 

The image formed by remedial lens in short-sightedness or far 

sightedness is  

A. Real, erect   B. Virtual, erect 

C. Virtual, inverted   D. Real, inverted  

29- lkbM fejj ds :Ik esa fuEufyf[kr esa ls dkSu iz;qDr gksrk gS\ 

v- mÙky niZ.k    c- vory niZ.k 

l- vory ysal    n- mÙky ysal 

Which of the following is used as a side mirror? 

A. Convex mirror   B. Concave mirror 
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C. Concave lens   D. Convex lens 

30- vory ysal }kjk izkIr izfrfcac gksrk gS & 

v- vkHkklh    c- lh/kk 

l- NksVk     n- buesa ls lHkh 

The image obtained by a Concave lens is – 

A. Virtual    B. erect 

C. diminished   D. all of these 

31- ÅtkZ dk S.I. ek=d gS & 

v- twy     c- twy@ls0 

l- twy@ls02    n- buesa ls dksbZ ugha 

The S.I. unit of energy is  

A. Joule    B. Joule/Sec. 

C. Joule/Sec2   D. None of these  

32- vkdk'k dk uhyk jax gksuk fdl ifj?kVuk dk ifj.kke gS\ 

v- viorZu    c- izdh.kZu 

l- ijkorZu    n- buesa ls dksbZ ugha 

The blue colour of the sky is the result of which phenomenon? 

A. Refraction    B. Scattering 

C. Reflection    D. None of these 

33- lkekU; us= ds fy, Li"V nf̀"V dk U;wure nwjh gksrk gS & 

v- 25 eh    c- 2-5 lseh 
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l- 25 lseh    n- 2-5 eh 

Least distance of distinct vision for the normal eye is  

A. 25 m    B. 2.5 cm 

C. 25 cm    D. 2.5 m 

34- fdlh mÙky ysal dk Qksdlkarj 50 lseh gSA mldh {kerk gksxhA 

A. +5D     B. -5D 

C. -2D     D. + 2D  

The focal length of Convex lens is 50 cm, It’s power will be – 

A. +5D     B. -5D 

C. -2D     D. + 2D 

35- ,d fizTe fdrus lrgksa ls f?kjk jgrk gS\ 

v- nks     c- rhu 

l- pkj     n- ik¡p 

A prism is surrounded by how many surfaces? 

A. Two     B. Three 

C. Four    D. Five 

36- vfHkus= ysal dh Qksdl&nwjh esa ifjorZu fd;k tkrk gS & 

v- iqryh }kjk    c- ifjrkfjdk }kjk 

l- nf̀"ViVy }kjk   n- i{ekHkh isf”k;ksa }kjk 

The focal length of the eye lens is changed by – 

A. Pupil    B. Iris eV
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C. Retina    D. Ciliary muscles 

37- izdk”k ds ijkoÙkZu ds fdrus fu;e gSa\ 

v- 1     c- 2 

l- 3     n- 4 

How many laws of reflection of light are? 

A. 1     B. 2 

C. 3     D. 4 

38- QksVksxzkQh dSejk dk vfHkn”̀;d gksrk gSA 

v- mÙky ysal    c- vory ysal 

l- mÙky niZ.k    n- vory niZ.k 

The objective of a photography camera is  

A. Convex lens   B. Concave lens 

C. Convex mirror   D. Concave mirror 

39- ;fn ,d fdj.k vory niZ.k ij yacor vkifrr gks] rks ijkorZu ds ckn fdj.k 

fdl fcanq ls xqtjsxh \ 

v- Qksdl ls    c- oØrk&dsUnz ls 

l- /kzqo ls    n- buesa fdlh ls ugha 

If a ray is incident normally to the surface of a concave mirror, 

through which point will it pass after reflection? 

A. From focus   B. From Centre of Curvature 

C. From pole    D. None of these  
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40- ;fn ,d fizTe ls ,do.khZ fdj.k xqtjs] rks bldk ugha gksxkA 

v- viorZu    c- o.kZ fo{ksi.k 

l- fopyu    n- buesa ls dksbZ ugha 

If a monochromatic ray passes through a prism, it will not suffer – 

A. refraction    B. dispersion 

C. deviation    D. none of these  

41- Ikou fo|qr tfu= esa dqaMyh dks ?kqekus dk dke ewyr% djrh gS & 

v- mPp nkc dh gok   c- fLFkj gok 

l- xfreku gok    n- buesa ls dksbZ ugha 

In a wind electric generator, the coil is rotated basically by  

A. at high pressure of Air  B. air at rest 

C. air in motion    D. none of these 

42- dk¡p dh vory ysal dh ok;q esa 'kfDr gksrh gS 

v- _.kkRed    c- /kukRed 

l- dHkh&dHkh /kukRed  n- buesa dksbZ ugha 

The power of a Concave lens of a glass in air is  

A. negative    B. positive 

C. Sometimes positive  D. none of these 

43- fuEukafdr esa dkSu fo|qr dk lqpkyd gS \ 

v- vk;ksMhu    c- xzsQkbV 

l- lYQj    n- ghjk 
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Which one of the following is a good conductor of electricity? 

A. Iodine    B. Graphite 

C. Sulphur    D. Diamond 

44- oØrk&f=T;k 1 eh- ds vory niZ.k dh Qksdl&nwjh gksxhA 

A. 50 mm    B. 50 cm 

C. 50 m    D. buesa ls dksbZ ugha 

The focal length of a concave mirror having radius of curvature 1m 

is – 

A. 50 mm    B. 50 cm 

C. 50 m    D. None of these 

45- l?ku ek/;e ls fojy ek/;e esa tkrh gqbZ fdj.k vfHkyac ls fopfyr gks tkrh 

gS & 

v- vfHkyac ls nwj    c- vfHkyac ds lkFk laikrh 

l- vfHkyac ds utnhd   n- buesa ls dksbZ ugha 

A ray passing from denser to rarer medium deviates  

A. away from normal  B. to coincide with the normal 

C. towards the normal  D. none of these 

46- fo|qr /kkjk mRiUu djus dh ;qfDr gS & 

v- tfu=    c- eksVj 

l- ,ehVj    n- xSYosuksehVj 

The device used to produce electric current is – 
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A. Generator    B. Motor 

C. Ammeter    D. Galvanometer 

47- ÅtkZ dk ikjaifjd L=ksr gS & 

v- iou ÅtkZ    c- lkSj ÅtkZ 

l- dks;yk    n- ck;ksxSl 

The conventional source of energy is – 

A. Wind energy   B. Solar energy 

C. Coal    D. Biogas 

48- dk¡p dh ,d lekarj ifV~Vdk ij 'osr fdj.k frjNh vkifrr gksrh gSA 

fuEukafdr esa dkSu izFke viorZu ds lkFk ?kfVr gksxk \ 

v- fopyu    c- fo{ksi.k 

l- ijkorZu    n- buesa ls lHkh 

A white ray is incident obliquely on a glass slab with the first 

refraction. Which of the following will also occur? 

A. Deviation    B. Dispersion 

C. Reflection    D. All of these  

49- gekjs ?kjksa esa tks fo|qr vkiwfrZ dh tkrh gS og gS & 

v- 220 v fn"V /kkjk    c- 12 v fn"V /kkjk 

l- 220 v izR;korhZ /kkjk   n- 12 v izR;korhZ /kkjk 

The electricity supplied to our houses is – 

A. 220 v direct current  B. 12 v direct current 
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C. 220 v alternating  D. 12 v alternating current 

50- tLrk dh ijek.kq la[;k gS & 

A. 24     B. 28 

C. 29     D. 30  

The atomic number of zinc is – 

A. 24     B. 28 

C. 29     D. 30 

51- /kksfc;k lksMk dk jklk;fud lw= D;k gS \ 

A. Na2CO3.10H2O   B. Na2CO3.7H2O 

C. Na2CO3.5H2O   D. Na2CO3.H2O 

What is the chemical formula of washing soda ? 

A. Na2CO3.10H2O   B. Na2CO3.7H2O 

C. Na2CO3.5H2O   D. Na2CO3.H2O 

52- fuEukafdr esa dkSu izcy {kkjd gS \ 

A. Mg(OH)2    B. NH4OH 

C. NaOH    D. Cu(OH)2 

Which one of the following is the strongest base? 

A. Mg(OH)2    B. NH4OH 

C. NaOH    D. Cu(OH)2 

53-  gsekVkbZV fuEukafdr esa fdl /kkrq dk v;Ld gS \ 

A. Zn     B. Fe eV
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C. Cu     D. Au 

Haematite is an ore of which of the following metals ? 

A. Zn     B. Fe 

C. Cu     D. Au 

54- lYQkbZM v;Ld dk lkanz.k fuEukafdr esa fdl fof/k }kjk gksrk gS \ 

v- nzo.k fof/k    c- gkFk ls pqudj 

l- fuLrkiu    n- Qsu mRiykou fof/k 

The sulphide ore is concentrated by which of the following 

process? 

A. Liquation    B. Hand picking 

C. Calcination   D. Froth-floatation process 

55- vfHkfØ;k] 2Zn + O22ZnO fdl izdkj dh vfHkfØ;k gS \ 

v- mip;u    c- foLFkkiu 

l- mnklhuhdj.k   n- vi?kVu 

The reaction, 2Zn + O22ZnO is which type of reaction. 

A. Oxidation    B. Displacement 

C. Neutralisation   D. Decomposition  

56- Xywdksl dk vk.kfod lw= gS & 

A. C2H5OH    B. C6H12O6 

C. H2SO4    D. C5H15N7 

The Molecular Formula of Glucose is  eV
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A. C2H5OH    B. C6H12O6 

C. H2SO4    D. C5H15N7 

57- vEy dk tyh; foy;u fo|qr dk lapkyu djrk gS] D;ksafd vEy ty esa  

v- foys; gksrk gS   c- vfoys; gksrk gS 

l- vk;fur gksrk gS   n- buesa ls dksbZ ugha 

The aqueous solution of an acid conducts electricity because an 

acid is 

A. soluble in water   B. insoluble in water 

C. ionized in water   D. none of these 

58- fyfFk;e ds ckg~;re 'ksy esa fdrus bysDVªkWu fo|eku gS \ 

A. 1     B. 2 

C. 3     D. 4 

How many electrons are there in the outermost shell of lithium? 

A. 1     B. 2 

C. 3     D. 4 

59- vkoÙkZ lkj.kh ds 'kwU; lewg dk rRo gS & 

A. Cl     B. H 

C. He     D. Na 

The element of zero group of the Periodic Table is – 

A. Cl     B. H 

C. He     D. Na eV
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60- fuEukafdr esa lokZf/kd fo|qr_.kkRed rRo dkSu gS \ 

A. F     B. K 

C. I     D. Na  

Which one of the following is the most electronegative element? 

A. F     B. K 

C. I     D. Na 

61- ty ds oS|qr vi?kVu esa dSFkksM ij dkSu lh xSl eqDr gksrh gS \ 

v- vkWDlhtu     c- vkstksu 

l- gkbMªkstu    n- buesa ls dksbZ ugha 

Which gas is deposited on Cathode in the electrolysis of water? 

A. Oxygen    B. Ozone 

C. Hydrogen    D. None of these 

62- gekjk 'kjhj dk pH eku D;k gS \ 

A.  2-3     B.  5-7 

C.  7.0 – 7.8    D.  9.1 – 9.5 

 What is the pH value of our body? 

A.  2-3     B.  5-7 

C.  7.0 – 7.8    D.  9.1 – 9.5 

63- fuEukafdr ;kSfxdksa esa dkSu vEy gS \ 

A. Na2O    B. CuO 

C. Ca(OH)2    D. H2SO4 
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Which one of the following compounds is an acid? 

A. Na2O    B. CuO 

C. Ca(OH)2    D. H2SO4 

64- fuEukafdr esa dkSu la”ysf"kr lwpd gS \ 

v- gYnh     c- fyVel i= 

l- esfFky vk¡jst   n- yky iÙkkxksHkh  

Which of the following is Synthetic Indicator? 

A. Turmeric    B. Litmus Paper 

C. Methyl Orange   D. Red Cabbage  

65- dkcZu MkbvkWDlkbM ty ls vfHkfØ;k djds cukrk gS & 

v- lY¶;wfjd vEy   c- dkcksZfyd vEy 

l- dkcksZfud vEy   n- gkbMªksDyksfjd vEy 

Carbon dioxide reacts with water to form – 

A. Sulphuric acid   B. Carbolic acid 

C. Carbonic acid   D. Hydrochloric acid 

66- dkWij ikbjkbV~l dk jklk;fud la?kVu gS 7 

A. Cu2FeS    B. CuFeS2 

C. CuFe2S    D. Cu2FeS2  

The chemical composition of Copper pyrite is – 

A. Cu2FeS    B. CuFeS2 

C. CuFe2S    D. Cu2FeS2  
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67- izd`fr esa eqDr voLFkk esa ikbZ tkusokyh /kkrq gS & 

v- ftad     c- lksuk 

l- yksgk     n- rk¡ck 

A metal found in the Free State in nature is – 

A. Zinc     B. Gold 

C. Iron     D. Copper  

68- fuEukafdr esa dkSu&lh /kkrq lcls vf/kd vfHkfØ;k”khy gS \ 

A. Zn     B. Ag 

C. Au     D. Cu  

Which of the following metals is the most reactive? 

A. Zn     B. Ag 

C. Au     D. Cu 

69- fdlh v/kkrq ds ckg~re 'ksy esa bysDVªkWuksa dh la[;k gks ldrh gS \ 

A. 3, 4, 5 or 6   B. 4, 5, 6 or 7 

C. 1, 2, 3 or 4   D. 2, 3, 4 or 5  

The number of electrons in the outermost shell of non-metal can 

be – 

A. 3, 4, 5 or 6   B. 4, 5, 6 or 7 

C. 1, 2, 3 or 4   D. 2, 3, 4 or 5  

70- ihry fuEukafdr esa fdudh feJ/kkrq gS \ 

A. Cu + Zn    B. Fe + Ni eV
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C. Cu + Au    D. Cu + Sn 

Brass is an alloy of which of the following? 

A. Cu + Zn    B. Fe + Ni 

C. Cu + Au    D. Cu + Sn 

71- fuEufyf[kr esa dkSu leko;oh gS \ 

v- esfFky ,sYdksgkWy vkSj MkbesfFky bZFkj    

c- ,slhVksu vkSj ,sflVSfYMgkbM 

l- ,fFky ,sYdksgy vkSj MkbesfFky bZFkj 

n- ,Fkhu vkSj ,Fkkbu  

Which of the following are isomers? 

A. Methyl alcohol and dimethyl ether 

B. Acetone and Acetaldehyde 

C. Ethyl alcohol and dimethyl ether 

D. Ethene and Ethyne 

72- CH3 – O – C2H5 dk IUPAC iz.kkyh ds vuqlkj uke gS & 

v- esFkkWDlh,Fksu   c- izksikWDlhesFksu 

l- ,FkkWDlhesFksu   n- ,fFkyesfFky bZFkj 

The name of CH3 – O – C2H5 according to IUPAC system is – 

A. Methoxyethane   B. Propoxymethane 

C. Ethorymethane   D. Ethylmethyl ether 

73- Ykksgs dh vfHkfØ;k Hkki ls djkus ij yksgs dk dkSu lk vkWDlkbM curk gSA eV
idy
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A. Fe3O4    B. Fe3O2 

C. Fe2O3    D. FeO 

Which oxide of iron is formed when iron is treated with steam? 

A. Fe3O4    B. Fe3O2 

C. Fe2O3    D. FeO 

74- ,d rRo dh ijek.kq la[;k 16 gS] vkorZ lkj.kh esa bl rRo dh oxZ la[;k D;k 

gS\ 

A. 15     B. 2 

C. 16     D. 4  

The atomic number of an element is 16. What is the group number 

of this element in periodic Table? 

A. 15     B. 2 

C. 16     D. 4 

75- fuEufyf[kr esa dkSu lh /kkrq ruq lY¶;wfjd vEy ds lkFk vfHkfØ;k ugha djrh 

gS \ 

A. Zn     B. Fe 

C. Cu     D. Mg  

Which of the following metals does not react with dilute sulphuric 

acid? 

A. Zn     B. Fe 

C. Cu     D. Mg  eV
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76- ,d feJ/kkrq esa 90 izfr”kr Cu vkSj 10 izfr”kr fVu gSA bl feJ/kkrq dk uke 

gS & 

v- lksYMj    c- czksat 

l- ihry    n- teZu flYoj 

An alloy contains 90% Cu and 10% Sn The name of this alloy is 

A. Solder    B. Bronze 

C. Brass    D. German Silver 

77- ftad lksfM;e gkbMªkDlkbM ds lkFk izfrfØ;k dj cukrk gS & 

v- H2  xSl    c- O2 xSl 

l- H2  vkSj O2 xSl nksuksa  n- ZnO 

Zinc reacts with sodium hydroxide to form – 

A. H2 gas    B. O2 gas 

C. both H2 and O2 gas  D. ZnO 

78- fuEufyf[kr esa dkSu lh /kkrq ok;q esa mPp rki ij xeZ fd, tkus ij Hkh 

vkWDlhtu ls la;ksx ugha djrh gS \ 

A. Al     B. Cu 

C. Ag     D. Hg  

Which of the following metals does not combine with oxygen even 

when heated at high temperature in air. 

A. Al     B. Cu 

C. Ag     D. Hg 
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79- v;Ld esa mifLFkr vinzO; dgykrs gSa & 

v- [kfut    c- /kkrqey 

l- xSax     n- buesa ls dksbZ ugha 

The impurities present in an ore are called. 

A. minerals    B. slag 

C. gangue    D. none of these 

80- fuEufyf[kr esa fdl xq.k ds dkj.k /kkrqvksa ds rkj cuk, tkrs gSa \ 

v- vk?kkro/kZuh;rk   c- m"eh; pkydrk 

l- rU;rk    ?k- dBksjrk 

Due to which of the following properties of metal, wires are made? 

A. malleability   B. thermal conductivity 

C. ductility    D. hardness 

(Section-B) 

(Physics)  

Short Answer Type Questions  

iz”u la[;k 1 ls 8 rd y?kq mÙkjh; gSaA buesa ls fdUgha 4 iz”uksa dk mÙkj nsaA izR;sd iz”u ds 

fy;s 2 vad fu/kkZfjr gSA        (4x2=8) eV
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Question Nos. 1 to 8 are Short Answer Type.  Answer any 4 questions. Each 

question carries 2 marks.        (4x2=8) 

1- fdlh pkyd dk izfrjks/k fdu ckrksa ij fuHkZj djrk gS \    2 

On which factors do the resistance of a conductor depend? 

2- vuohdj.kh; ÅtkZ&L=ksr D;k gS \ dksbZ nks mnkgj.k nsaA    2 

What is nonrenewable source of energy? Give any two examples. 

3- mÙky ysal ,oa vory ysal esa varj Li"V djsaaA     2 

Distinguish between a convex lens and a concave lens. 

4- ljy lw{en”khZ D;k gS \ bldk ,d fdj.k vkjs[k [khpsaA    2 

What is a simple microscope? Draw its ray diagram. 

5- fo|qr eksVj dk D;k fl)kar gS \       2 

What is the principle of electric motor ? 

6- ,ehVj ,oa oksYVehVj ds mi;ksx crk,¡A      2 

Explain the uses of ammeter and voltmeter. 

7- vk¡[k dh leatu&{kerk ¼power of accommodation½ dk D;k rkRi;Z gS\  2 

What is meant by power of accommodation of the eye? 

8- HkwÅ"eh; ÅtkZ D;k gS \       2 

What is geothermal energy?

Long Answer Type Questions

iz”u la[;k 9 vkSj 10 nh?kZ mÙkjh; iz”u gSaA buesa ls fdlh ,d dk mÙkj nsaA izR;sd iz”u ds 

fy, 6 vad fu/kkZfjr gSA        1 x 6 = 6 
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Question Nos. 9 and 10 are Long Answer Type questions. Answer any one 

of them. Each question carries 6 marks.     1 x 6 = 6  

9- mÙky ysal ds fy;s lw= 
ଵ

௩
 - 

ଵ

௨
 = 

ଵ

௙
 dh LFkkiuk djsaA     

Establish the relation 
ଵ

௩
 - 

ଵ

௨
 = 

ଵ

௙
  for a convex lens. 

10- le>k,¡ fd dSls ty&ÅtkZ dks fo|qr&ÅtkZ esa cnyk tk ldrk gSA ty ÅtkZ 

ds nks ykHk Hkh fy[ksaA 

Explain how water energy can be converted into electrical energy. 

Also write two benefits of water energy. 

(Chemistry)  

Short Answer Type Questions  

iz”u la[;k 11 ls 18 rd y?kq mÙkjh; gSaA buesa ls fdUgha 4 iz”uksa dk mÙkj nsaA izR;sd iz”u 

ds fy, 2 vad fu/kkZfjr gSaA        (4x2=8) 

Question no. 11 to 18 are Short Answer Type questions. Answer any 4 

questions. Each question carries 2 marks.     (4x2=8) 

11- ou lainkvksa ij vk/kkfjr fdUgha nks m|ksxksa dk uke crk,¡A   2 

Name any two industries based on forest resources. 

12- fuEukafdr ds bysDVªkWu&fcanq lajpuk cuk,¡A      2 

(i) H2S     (ii) F2 

Draw the electric dot structure of the following. 

(i) H2S     (ii) F2 
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13- fuEukafdr vfHkfØ;kvksa esa mipf;r rFkk vipf;r gksusokys inkFkksZa dh igpku 

dhft,A           2 

(i) 4Na(s) + O2  2Na2O(s) 

(ii) CuO(s) + H2(g)  Cu(s) + H2O(aq) 

Identity the substances oxidized and reduced in the following 

reactions. 

(iii) 4Na(s) + O2  2Na2O(s) 

(iv) CuO(s) + H2(g)  Cu(s) + H2O(aq) 

14- vo{ksi.k vfHkfØ;k ls vki D;k le>rs gSa \ lksnkgj.k le>k,¡A   2 

What do you mean by precipitation reaction? Explain with an 

example. 

15- ,dy foLFkkiu vfHkfØ;k D;k gS \       2 

What is single displacement reaction? 

16- fpIl dh FkSyh esa dkSu&lh xSl Hkjh gksrh gS] vkSj D;ksa \    2 

Which gas is filled in the bag of chips, and why?  

17- fojatd pw.kZ D;k gS \ bldk jklk;fud uke] lw= ,oa mi;ksx fy[ksaA  2 

What is bleaching powder? Write its chemical name, formula and 

uses? 

18- fuLrkiu vkSj tkj.k esa D;k varj gS \      2 

What are differences between calcinations and roasting? 

Long Answer Type Questions
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iz”u la[;k 19 vkSj 20 nh?kZ mÙkjh; gSaA buesa ls fdlh ,d dk mÙkj nsaA izR;sd iz”u ds 

fy, 5 vad fu/kkZfjr gSA        1 x 5 = 5  

Question Nos. 19 and 20 are long answer type. Answer any one of them. 

Each question carries 5 marks. 

19- tLrk ds eq[; v;Ld dk uke fy[ksaA tLrk dk mlds v;Ld ls fu"d"kZ.k ds 

fl)kar dk o.kZu djsaA         5 

Write the name of main ore of Zinc. Describe the principle of 

extraction of zinc from its ore. 

20- gkbMªkstuhdj.k vfHkfØ;k D;k gS \ bl vfHkfØ;k dk ,d O;kikfjd mi;ksx 

crk,¡A           5 

What is hydrogenation reaction? Give one commercial use of this 

reaction. 

(Biology) 

Short Answer Type Questions  

iz”u la[;k 21 ls 28 rd y?kq mÙkjh; gSaA buesa ls fdUgha 4 iz”uksa dk mÙkj nsaA izR;sd iz”u 

ds fy, 2 vad fu/kkZfjr gSA        4 x 2 = 8 

Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions. 

Each question carries 2 marks.       4 x 2 = 8  

21- izdk”kkuqorZu D;k gS \         2 

What is phototropism? 

22- iks"k.k dh ifjHkk"kk nsaA         2 
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Define nutrition. 

23- xq.kksa dk lapj.k ,d ls nwljh ih<+h esa dSls gksrk gS \    2 

How characters are transmitted from one generation to the next? 

24- jDr IysVysV~l dh jDr teus esa D;k Hkwfedk gS \     2 

What is role of blood platelets in blood clotting? 

25- vkuqoaf”kd xq.k ls vki D;k le>rs gSa \      2 

What do you understand by genetic trait? 

26- ifjra= esa viektZdksa dh D;k Hkwfedk gksrh gS \     2 

What is the role of detergents in the ecosystem? 

27- vkstksu ijr ds {k; dk dkj.k fy[ksaA      2 

Write the reason for the depletion of ozone layer. 

28- ekuo ew= ds vo;oksa dh izfr”kr ek=k D;k gS \     2 

What is the percentage amount of components of human urine? 

Long Answer Type Questions

iz”u la[;k 29 vkSj 30 nh?kZ mÙkjh; gSaA buesa ls fdlh ,d dk mÙkj nsaA izR;sd iz”u ds 

fy, 5 vad fu/kkZfjr gSA        1 x 5 = 5  

Question Nos. 29 and 30 are Long Answer Type. Answer any one of them. 

Each question carries 5 marks.      1 x 5 = 5  

29- yky jDr dksf”kdk rFkk 'osr jDr dksf”kdk esa varj crkb,A    

Differentiate between red blood cells and white blood cells. 

30- mÙkd&lao/kZu ¼ tissue culture ½ D;k gS\ ;g dSls lEiUu gksrk gS\   

What is tissue culture? How is it accomplished? 
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